
BXG.7020
(INSTALLATION INSTRUCTION)

CONTENTS1

Rear Fender Flares

MAKE A DIFFERENCE

10 Hex Bolts M8*25

10 Split Lock Washer

M8*16*110

D8

2

M8

Qty Part Name PictureSize(mm)

10 Flange Hex Lock Nuts

2200Rubber Strip

Diver Side

Passenger
Side

Flat Washer

TOOLS REQUIRED2

Drive Ratchet Handle

13mm Shallow Socket

To view online instruction, please 
scan the QR code.

13mm Wrench

Please verify all parts are present and read instructions carefully before starting installation. 
Please feel free to contact  your distributor if you have any kind of question about your purchase.

https://manuals.plus/m/5835e29f67d306d39070a46d17d12b0695b5e036e64260e352b97db62a5aecd2


INSTALLATION INSTRUCTION3

Remove the bolts located along the interior of the 
inner fender and the clips located in each corner 
of the fender.

Attach the rubber strip to the fender flare.
Align it with the factory installation holes of the 
vehicle.

Remove factory fender flare.

The Five Installation Holes Identify

Rear Factory Flare Removal

Remove the clips along the edge of the fender 
that remained in the vehicle.

Driver Side Installation

Identify the fender flares.

Step 1

Step 2

Step 3

Step 4

Step 5

Step 6

Front



The installation is complete. We hope you enjoy a 
wonderful off-road life with this quality Hooke 
Road product!

Fender Flare Installation
Middle three holes first. Do not fully tighten hardware 
to allow adjustability. 

Repeat the same installation steps in the passenger 
side.

to find your parts.
Feel Free To Share Your Vehicle
With The Hashtag #hookeroad If You'd Like

@HookeRoad4x4

Step 7

Step 8

Step 8

Step 9

Step 10

(3) D8 Split Lock Washer
(3) M8x25 Hex Bolts

(3) M8 Flange Hex Lock Nuts
(3) M8×16×1 Flat Washer

Fender Flare Installation
Then the both side holes. Tighten all hardware.

(2) D8 Split Lock Washer
(2) M8x25 Hex Bolts

(2) M8 Flange Hex Lock Nuts
(2) M8×16×1 Flat Washer


